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1. What is the full form of ‘http’ ?

" (A) Hyper Text Transmission Protocol

(B) Hidden Text Transfer Protocbl

(C) Hyper Text Transfer Protocol
: - ]
(D) Hidden Text Transmission Protocol

Open source
Microsoft
3. How many nu 0 ! site can contain ?
(A)
(B) As many as.‘bne' unld like to' h;xve
" (C) Dependh fipord theCsizé dfcthpccbtitent dh the web site
(D) None .of the above
4. Which of the following is not the function of an OS ?
(A) Memory Management (B) Input/bufput Manageménf

(C) dJob Scheduling (D) Database Management <
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5. Which of the following is not an OS ?

-
(A) Microsoft Windows (B)  Unix/Linux
(C) Android (D) Oracle

6. Which of the following is a web browser ?

(A)  Google (B) Internet Explorer
(C) Microsoft Excel _ (D) HP
. System software is an interface between .............

(A) Hardware and Application Software
(B) Application software and User
(C) ROM and RAM

(D) CPU and UPS

8. Which of the following is not a Microsoft Windows version ?
(A) Microsoft Windows 6 (B) Microsoft Windows 7
(C) Microsoft Windows XP (D) Microsoft Windows 8

9, Which of the following‘is the keyboard shortcut for ‘undo’ the last operation

performed in Microsoft Office ?
(A) Ctrl + s (B) Ctrl + x

(C) Ctrl + z D) Ctrl + a
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10. There are ...c.ccceeueneeen reserve words ‘C’.

-r)

(A) 32 (B) 24
(C) 36 (D) 64
11. Which of the following is not an arithmetic operator in ‘C’
(A) ¥ B) <~
C) @ D) #

12. Any statement in ‘C’ language that starts with the character # is called

B wamensmsdritass
(A) Pre-processor statement B) Post-proceséor statement
(C) Control statement (D) None of these

13. The full form of RAM is ........... A
(A) Random Application Memory
(B) Random Access Memory
(C) Rare Aﬁplication Memory

(D) Random Access Management
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14. The speed of operations of cache memory used in computers is slower than

thatof cevvrinninnnnn.
(A) RAM (B) ROM
(C) HDD (D) Registers in CPU

15. While entering a formula in a cell in MS Excel, the entry must begin with

.............. operator.

(A) ( B) %

C) # D) =
16. A compiler is ......c.....

(A) A combination of computer hardware

(B) A software utility that translates a program written in machine lan-

guage into high level language

(C) A software utility that translates a program written in high level lan-

guage into machine language .
(D) A combination of coﬁuputer'hardware and’ software
17. A byte consists of .................
(A) 1 bit | | (B? 4 bits

(C) 8 bits (D) 16 bits
JOA (ITH—A 5 P.T.O.



18. The term Giga Byte réfers £0 <.siveneniaiions
(A) 1024 bits V(B), 1024 bytes
(C) 1024 l.iilo bytes | (D) 1024 mega by1}es

19.  The full form of BCD is ...ccooomrrrrrrernns |
(A) Bit Coded Decimal o (B) Binai'y Coded Decimal

(C) Bit Coded Digi'(D) Binary Coded Digit

20. Instructions an

RAM of a computer are stored

UBINE soccnsornseness
(A) Binary Digit : ' Decimal Digits
(C)  Octal Digits ~Parity Bits

; 21. A computeH P-E Yﬁmdgt:fiﬁ ..... —

@) Memory sddmsed o it togefHefeil addross

© IP address (D) Virtual acidregs
22.  On thg Internet, moving from one web sivteb to another is known as -.....
(A) Uploading . ' (Bj Downloading
(C; Searching . (D) ﬁroWSing

JOA (IT)»—A 6



23. In Internet terminology, IP means .................

-
(A) Internet Profile (B). Internet Protocol

(C) Internet Processor (D) Internet Procedure

24. The output printed by a computer through a printer on the paper is

ot i {2 o E——
(A) Virtual copy (B) Hard copy
(C) Soft copy (D) None of these

25. Arraﬁge in ascending order the units of memory TB, KB, GB, MB :
(A) MB > GB > TB > KB (B) TB > GB > MB > KB
(C) GB>MB > KB > TB (D) TB > MB > GB > KB
26. Which of the following are components of Central Processipg Unit (CPU) ?
(A) Arithmetic Logic Unit, Mouse and Primary/Main Memory
(B) Arithmetic Logic Unit, Printe;r and Primary/Main Memory
(C) Control Unit, Monitor and Primary/Main Memory

(D) Arithmetic Logic Unit, Control Unit and Primar:y/Main Memory
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27- What is the full form of URL ?
(A) Uniform Registered Link (B) Uniform Resource Locator
(C) Uniform Resource Link (D) Unified Resource Link

28.  In which of the following, Documents, Movies, Images and Photographs etc.

are stored ?
(A) Print Server (B) Media Server
(C) Web S_eryer (D) File Server

29.  What is the full form of GUI in reference to computers ?
(A) Graphical Unified Interface
(B) Graphical User Interface
(C)  Graphical User Instrument
(D) Graphical Unified Instrument

30. Which are the operations that are performed on RAM ?
(A) Write only (B) Read only

(C) Read and Write both (D) - It depends on the user

JOA (IT)—A 8



31.

32.

33.

34.

Which of the following is the outcome of data processing ?

B

(A) Software Program- (B) Data

(C) System (D) Information

DNS in Internet technology stands for .............
(A) Domain Name System

(B) Dynamic Name Systenj

(C) Distributed Name System

(D) Data Name System

Which of the following operations is not performed by a computer ?

(A) Control (B) Output

(C) Understand (D) Input

The ‘folders’ in an operating system are based on .............

(A) Doubly linked : (B) Queue

(C) Inverted tree | (D) Graph

JOA (IT)—A : 9
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35. - Which of the following alignments will apply by default when some’tiext' is

%
(8

entered in a cell in a worksheet of Microsoft Excel ?
(A) Centre (B) Left
(C) Right - (D) None of these

36. Which of the following addressing modes can ba used/ forwriting formulas

.i'n a cell in a worksheet in Microsoft Excel ? \

(A) Relative _ (B) : 1’

(C) Mixed B N 1 of those

37. What is a hyperlink

(A)' It is used to ®$eb site

(B) It is

web pages

which is hypersen’sitive to user

e of the above
38. Which of the following is not a component in multimedia ?
(A) Audio (B) Video

(C) Data ' ‘ (D) Pen drive

- JOA (IT)»—A ' 10



39. IER SERHAS IO < viversmrrovss
(A) Intellectual Property Rights (B) IIlegél Property Rights
(C) Intellectual Property Rites (D) None of these
40. Which of thev following is not true for Microsoft PowerPoint presentation ?
(A) The slides can be run with the he.lp of slide show
(B), The access to a particular slide can be restricted

(C) The transition speed for the slides can be adjusted before running the

slide show

(D) The transition speed for the slides cannot be adjusted before running

the slide show
41. The full form of SQL is ..............
(A) Standard Query Language
(B) Structured Queuing Language
(C) S_tandard Queuing Language

(D) Structured Query Language

JOA (IT)—A 11 ' P.T.O.



42.  An attribute in a table is a foreign key if the ................ key from another table

is used as an attribute in that table.
(A) Candidate | (B) Super
(C) Primal;y ‘ | D) Foréign
43. Which one of the following atfributes. can- be used as a primary key ?
(A) Candidate Name (B) Street Name
(&) Adhaar- Card Number (D) None of these
44.. Under what condition, the subset of super kéy is a candidate key ?
(A) All subsets are super keys
(B) Subset is a super key
(C) No proper subset is .a super key |
(D) Each subset is a super key

45.  Create table employee (name varchar, id integer). What type of statement

is this ?
(A) View v (B) DCL
(C) DML (D) DDL

JOA (IT)—A 12



46.  Which of the following devices can be used to connect a computer to the Internet 3

th?ough a telephbne line ?
(A) Modem R (B) Hub
(C) Extension Board (D) None of these

47.  Which of the following does not work on the principles of magnetization ?
‘(A) Hard Disk Drive (B)  Floppy Disk Drive
(C) Magnetic Taée (D)_ Pen Drive |

48. Which of the following statements is false ?

(A) The mouse can be used to seroll/move the cursor

(B) Keyboard can be used as an output deviceu

(C) DVD can be used to stor‘e th‘e data permanently

(D) Mike can be used to record voice in a computer

49.  Which of the following is not a key on the Keyboard of a normal PC ?

(A) + B) f
(C) Tab ' - (D) Sys
50. Internet is an example of ...........ccocel
(A) Local Area Netwofk A B) Metropolitan» Area Network
(C) Wide Area Nétwork D) Storagé Netwovrk>

" JOA IT)—A | 13 | | P.T.O.



S51.

. B2,

53.

54.

55.

Frafefen § @ weE TR s ¥ 2

.511

© s@fewm B o)

ﬁmﬁﬁaﬁqmamm%7
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(B)  qewAm faish WY SHERT W

(C)
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56.

57.

58.

e

60.

‘TR’ @ Wt fawe e § @ @ v 7
(A) ¥F: + W | ‘ (BS g + ™
(C) = + W™ | D) 71+ W
e # e e § 2

(A) d= | (B) 9
(C)'c"«'H} | - (D) e
et v w1 RS 2

(A) ST (B) STl

(C) Seta . (D) ST

‘a,é,n,a'sdmwﬁw@%%wmﬁwﬁw%@a%:

A) < (B) it
(C) %A (D)m
W%aﬁaﬁwaﬁ%%?

(A) =IO | (B) SATHIUTHATE

(C) faamsto (D) A
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61. ‘gea =i Ifvem’ wfaw % =i wE ¥ 2
(A) - ST e : (B) wrEens agast
©) feT=e (D) YusrRad =em
62. ‘I’ W T@H Y HEAET § 2
A) = T | .' B) &AFE
© s | (D) e
63. e’ W H fRE Gt W oW ¥ 2
(A) =afFTETES (B) -srrf‘aanw-
_kC) T S | (D). FeEETEE
64. ‘wy’ vsE w1 SggEd © : |
(A wHiygsti - ot ‘(B) 1y
(C) wygs | : (D) ‘mgfm
-65. fore T # qEU R UHE ST ¥ S@ W 9Ee ey ¥ 2
(A)  ITFEHYE | (B) wcged

(C) wgsife D) TB
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66.

67.

68.

(A) Coloured

o e PEXams Hlu

I_was happy to be .............. friends again.
(A) Among - (B) Between
(C) In between (D) Amongst

“Impediment” means :

(A) Agreement '3) Freedom

(C) Slavery

bstacle

Antonym of “Transpa

Let'sdo it together !!

An addition at the end of a let.ter_:‘

(A) Prelude | .' - (B)' Post mortem

(C) Post script e @ (D) Post natal

JOA (IT)—A ‘ 17 P.T.0.



70. Who is creating this mess ? (Change the voice) 3
(A) Who has created this mess ?
(B) By whom was this mess created ?

(C) Who created this mess ?

(D) By whom is this mess being created ?

71 Which of thve following adverbs is éofrect 2
(A) Truely | | (B) Truly
(C) Trully A * (D) Truelly
v 7. - Which of the following sentences is correct ?

(A) The flowers smell sweet.
(B) The flowers smell sweetly.
(C) Thé flowers sweet smells.

(D) The flowers smells sweets.

JOA (IT)—A ‘ 18



73. ;J.‘hé second form of the verb ‘Go’ is :

(A) Goes : (B) Gone

(C) Went | (D) Going
74.  Which of the folléwing is corre(j’tly spelt ?

(A) Assessment o (B) - Agriment

(C) Asignment B D) Avarr‘nent'
| 75. What is the past participle of the verb ‘Swim’ ?

(A) Swam | | (B) Swim

(C) Swum | . (D) Sween}'
76.. What is the ahtonym of ‘Balance’ ?

(A Imbalance | (B) Unbalance

(C) Disbalance . (D) Surplus

JOA (IT)—A | 19  P.T.O.



77. - What is the plural of ‘Ox’ ?
(A) Oxes : (B) Oxen
(C) .Many ox €5} More ox

78. What is the feminine of Fox ?

. (A) Lady Fox (B) Foxen
(C) Vixen \ ' (D) Fixen |
~19. When we were in Rajasthan, we ............ many forts.
(A) Watched , . (B) - Visioned
(_C) Visifed ' | (D) Enjoyed
780. Be careful, there is ice ..... N the rc_)ad. today.
(A) In (B) At
(C) i On .‘ (D) Around

JOA (IT)—A | | 20



81. *In which‘ year Himachal Pradesh was made ‘Part-C’ State ?
A) 1948 | (B) 1966
(C) 1972 (D) 1951
fsnﬁanmm‘r"mé—?ﬁfwmaafmwﬁqw ?

(A) 1948 | l 1966

(C) 1972

- 82. Chinese Pilgrim Hiug ake ‘Lohitya Sarover’ :

Renuka Lake

o owdid PEXaMSJI ...

Let's do it together H
S A BA-w 3 R W W e TR w2

(A) Nako Lake

(A) R e (B) YT e

(C) == de | (D) Tarw i«

JOA (IT)—A ‘ 21 | P.T.O.



83. ‘Baépa’ is tributary of which river ?
(A) $atluj . | (B) Beas
(C) Ravi : ’ (D) Yamuna
srear fhe TS T weArdt & 3
(A) Hags | (B) =™
© T T | ©)
84. Who gave the title of ‘Pahari Ga;ndhi’ to Sh. Baba Ka?xshi Ram ?
(A) M.K. Gandhi ' (B) Pt. J.L. Nehru
©) Safojini Naidu (D) Rabindranath Tagore
sﬁwmﬁ‘mﬁ%ﬁ’aﬁ@fﬁmﬁﬁ ?
(A) wHereH Tt B) dfed T&®
(©) R T, (D e R
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85. ‘V'Vhich place of HP is known as ‘Ellbra’ and ‘Ajanta’ ?
(A) Sujanpur Tira | : (B)~ ‘Masroor
(®); Suketi o , (D) Nako
mﬁﬁmﬁa%‘m’ﬁ‘@u'%mﬁmm% ?
(A). IR f (B) WEET. .
(C) gehal (D) AR

86. Which animal has been declared as the State animal (State Symbol)

of HP. ?

(A) Snow Leopard . (B) Yak
(C) Musk Deer (D) Black Bear

mwﬁmwr@m‘(wm)aﬁﬁm%mw%?
(A) wHHA dgan ., ‘(B)W
(©) =l fem : (D)iaﬂwmq
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87. The present Chief Minister of H.P. Sh. Vir Bhgdra Singh has begéme the
Chief Minister of the State for .the :
(A) 3rd time | - (B) 5th time
(C) 4th time | | (D) 6th time
.
fermeet Y & odue gersh o dium fie W @ ge W a ¥

S (A) dgd ER (B) df=dl €

(©) et SR (D) B SR
88. In which district of H.P. the rock salt is extracted on commercial basis ?
(A) Mandi : (B) Hamirpur

(C) Solan - (D) Bilaspur

ferrae wew & fora o & =a@fas ®9 ¥ 9T 996 &1 @99 B § 2
A woEd - (B TR

©) <rem - (D) foemEgR
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89.  Which of the following districts of H.P. has the least density of population ?
Ny

(A) Kinnaur (B) Hamirpur

(C) Chamba ~ (D) Lahaul and Spiti

fearaa W & few et 8 e &1 9 el wH § 2

(A) ﬁb:m - ® TR

(C) == (D) e s fef
90. ‘Minjar’ fair is celebrated in which district of HLP. ? .

(A) Shimla 1B ‘Reoprn.

(C) Chamba (D) Kullu

‘ﬁm"mmmm%'mmﬁmm%‘?

(A) fermen (B) TSl

(C) = (D) '»W

JOA (IT)—A 9 : P.T.O.



91. Durin'g the demonetization who was the Governor of Reserve Bank of

~ India ?
(A) Manmohan Singh (B) Urjit Patel
(C) Raghu Ram Rajan (D) Montek Singh Ahluwalia

Fdam fagdtete & SR 9dE fiod 9% % TE @ 9 2

(A) #HEs fog B) =f5a o=

(©) 'W‘m o) R ﬁT@' steegferen
92. The President of India who is known as ‘missile man’ : |

(A) V.V. Giri L (B) Pranab Mukherjee

(C) A.P.J. Abdul Kalam - (D) Rajendra, Prasad

yRa & ugafa o foumee e’ @ AW § S SR O€
A) . fil | (B) wuE TS

(C) TULS. 3 el ' (D) . Tl'@lv_s( TR
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93. The capital of Haryana is :

N
(A) Gurgaon S (B) Kurukshetra
(C) Chandigarh (D) Faridabad

gfamon w1 Uy aﬁmﬁ g ?
A) T | (B) wa
(C) avg"m | . (D) wieERE

94. Who was the Captain of Indian Test Cricket Team against England in

Nov./Dec. 2016 ?

(A) Virat Kohli (B) Mahendef Singh Dhgni

(C) Sachin Tendulkar D) Saurav‘ Ganguli

/e, 2016 § dive & favg. wRdE 3w fhde A8 @ wEm w9 A 2
(A) fotre. sreet | (B) #e=x fog o

(©) T A (D) dra T
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95. Which is the longest river of the world ?

(A) Amazon

(C) Ganges

frva =1 God o T W ¥ 2

(A) 3THSH
(C) Ripi|
96. ‘Gita’ is the hqu book of :
| (A) Sikhs
(C) Buddhisfs
e W tn%m T ¥ :
A) fami ==

) =gt =

JOA (IT)—A
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D)

(B)

(D)

(B)

D)

- (B)

(D)

‘Nile

Thames

Muslims

Hindus



97,

98.

The ‘First War of Plassey’ was fought between :
N
(A) Babar and Ibrahim Lodi

(B) Akbar%md Hemu

(©) Humayun and Sher Shah Suri

(D) Ahmad Shah Abdali and Marathas

‘I w1 9 g8 m—ﬁw%nwgﬁ o7 - ?

(A) =R 3R gofed wrd | ‘(B)Waﬁ“{%{

() T iR frwme gh (D) 3EASYE STl iR e
Who wrote the Nétional Anthem of India ‘Jana-Gana-Mana’ ?

(A) Bankim Chandra Chatterjee. (B) Rabindranath Tagore
(C) MX. Gandhi | (D) Subhash Chandra Bose

W%m‘m~w—m’aﬁwﬁmﬁﬁrﬁ ?

(A) SfeFas TS (B) =g HR

(C) W TIeR D) JUEEZR "
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99. Who is the Supréme Commander of Indian Forces ?
(A) Prime Minister (B) Chief Justice of India

(C) Speaker of Lok Sabha (D) President of India

A ®T A Fed EET‘Hoh“vd FHHEI B T ?
(A). ECIE e |

(B) WRd & Waled =qAeE 1 H&d AR
(C) < 9l 3reae

D) Waﬂwqfa

100. Who has been elected the President of United States of America in recently

held elections ?
(A) Hillary Clinton (B) Donald Trump

(C) Barack Obama (D) George Bush

T H g S{! YAl H sdin wzafe fRY g T 2
A) ferd fiea (B) IFee zm

(C) U STEmH - (D) Gﬂ‘sfgw
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Answer Key to the post of Jr.Office Asstt.(I.T.) held on 18-02-2017

Series : A
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19:B 20:A 2130 22:D - B 25:B 26:D 27:B
28:D 29:B 30:C 31:D C 34:C 35:B 36:D
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